x?+5x+a=(x+b)? N a-b 2 F2?

15
©F

X2 4+ 5x +a = x% + 2bx + b?
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2b=05, b= —
2

25

=p2 ===
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15
a-b=—




2 % 2Tax? — 12ay* 2 HFEA| JA+E3| g AL

@ (3ax-—3y)? @ 32(3ax - 4ay)?
® 3a(32%ax — 4ay)? @3a(3x + 2y)(3x —2y)

® 3(9ax* - 4ay?)

27ax? — 12ay* = 3a(9x2 = 4y2)
— 3a(3x + 2y) (3x — 2y)




3. 2xX-5x+2=(2x-A)(Bx-C) & W, A+ B+ C 9] 3= Fotof=}

> E.

[> Hetl A+B+C=14

B ~
2x% = b5x+2=(2x—1)(x—2)
(2x-1)(x-2) = (2x-A)(Bx-C)°| B2
A=1 B=1,C=2
LA+B+C=1+14+2=4




@ —6ax - 2bx = —6x(a + 2b)
@ ax®>+ay=a(x+y)
® a(x+y)-b(x+y)=(x+y)—ab
((4)—4x2 +16y% = —4(x + 2y) (x - 2y)
® x(2a-b) +2y(2a—b) —z(2a—b) = (2a - b)(x - 2y) — z

B

® -2x(3a + b)

@ a(x* +y)

® (x+y)(a-b)

® (2a-b)(x+2y-2z)




@ (x-5y)(x-y) @ (x4 2y)(x—-2y)
® (x-5y)(x+y) @ (x+3y)(x+2y)
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~&B
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= (x+ 3y +2y)(x + 3y - 2y)

= (x+5y)(x+)
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(@) = Azt st

A2 +2A4+1=(A+1)=(®)?

® x+3 @ x+2 ® x*+3x+2
@x2+3 ® x2+3x+1

@ x>+ 3x
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— (x4 9)(x-3) ~2(x-3)
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Ot a=-1, b=-1, c=-29BE2 g+ b+c= -4




b

O|ZFA] ax? 4 30x+b & HAAFA = VA (ex+3)% 4 o, i
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X -2x-8=(x+2)(x—4)

4x2 +5x -6 = (4x - 3)(x + 2)

52 A= (x+2) 0]

3o YFE AT YA S F2 (x-4) + (4x-3) =
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O x+1)(x+2) @ (+29(x+3) @u+2)(x+9)
@ (x+3)(x+5) @ (x+2)(x+6)
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1 1

12, x—— 1 omy-_ Lt
X \/§+\/§ LY \/__\/5

o, 2 (x+y) o] g= THH?

@ V6 @ 26 @4\/3 ®6v6 ® 8v6

FEshetH, x = V3- V2,y= V3+ V2
2(x+y) =2(V3- V2+ V3+ V2) =2(2V3) =43




13. a=243,b=173 & W, a® — 2ab + b* 2] F-2?

@® 0.36 (@)0.49 ® 0.64 @ 0.81 ® 121

(a—b)? = (243 -1.73)%2 = (0.7)2 = 0.49




14. a=V3-4,b=2+4+V3, c=3-V3L4 U, a®>-ab+ac-bc 2 <
Faolat




15. a=8+2v2 2w, ¢ - 16a + 55 9] Ft-2 F3toizt.
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> ®™et: 1

(a-11)(a-5) = (8 +2V2-11)(8 +2V2 - 5)
=(2v2-3)(2V2+3)=-1

~&B

a=8+2V294 a-8=22

FH-S A FS5HH a? - 16a + 64 = 80|22
16a = —56

(A= -56 + 55 = -1
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® 5a’b —7ab® (a*b?)

® 342 + 6 (3ab)
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() ool B2 A Yepd 229

@3ab + 3ac + 12ad (3a)

@ 3x+6x2 +9x> (3x?)

@ 4x(y + 22)

@ 3a(b + ¢ + 4d)
® ab(5a - 7b)

@ 3x(1 + 2x + 3x2)
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(1)a® +8a+A=(a+4)?
(2) x>+ Bx+9 = (x+ C)?

@16, 6, 3 @ 8,6,3 ® 16, 3, 6
@ 8, 3,6 ® 6, 8,3

~&B ~

a’>+8a+A=(a+4)?=a®>+8a+16, A=16
¥ +Bx+9=(x+C)?=x+2Cx+ C?
C?=9,C=4+3,B=2C, B==6
LA=16, B=6, C=3 (=B, C= %)
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x2 + 36x+ = (2)C—|-)2
67 + 1 +[@] = Bx+5)2x+[@)

® 6.6 @ 6,0,0 © 9.6
® ©,@ ®e.e
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@:22 =14
©:4x®=36 .©®=9
©:9%2=281

®:10+3x@=1, .@=-3
®: (-8)x5 =15
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@ 3x-2x-8=(x+A)(Bx+4)

© 4x* +Cx-3=(2x-1)(2x- D)

it

i

02
i
S

03
iy
S

VVVYYVYVY
i
a

0
i
>
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@D3x-2x-8=(x-2)(3x+4)

LA=-2,B=3
©4x? +Cx-3=(2x-1)(2x+3)
~C=4,D=-3
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@ W] Zol7k 22t aem , bem Q) BAZNY 2 AU 7HES
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4(a+b) =80°1B= a+b=20
a*> = b* = 100912 & (a + b)(a - b) = 100
a-b=>5

4(a-b) =4x5=20




22. 4a® -12ab + 9b* & A5-E5f SHH?

® (2a+ b)(2a - 9b) @ (2a+ 3b)?
® (a+ b)(da—9b) @) (24 - 3b)*
® (4a+b)(a+9b)

4a2 — 12ab + 9b% = (2a — 3b)?




23. TheL -8l & A5ES) @ Zolrk, o uf [ oref e A
A5 G FoHE?

Aoyt =2+ P+ - W

D 13 @15 ® 18 @ 20 ® 24

xt = 8Lyt = (x* +9?)(x* - 9%)
= (2% + 9y*)(x + 3y) (x - 3y)
~9+3+3=15




24.

@’ -b* = (a-b)(a+b) & BE3, 17 -3° +52 -7+ 97 - 117 +
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@ -100 @-200 @ -30 @ -450 G 540

S5 ~
12 —32 52 — 7292 [1% + 132 — 152 + 172 — 192
=1-3)1+3)+GB-76B+7) +--+ (17-19)(17 + 19)

—2(14+3)-2(5+7)—2(9 +11) —2(13 4 15) — 2(17 + 19)

—2(14+3+5+---+17+19)

=-2Xx95x%20
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25. f(x) =x%-8x-48, f(x)7} 40 9] 5 Q5
o] HPgre Fopolel.
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> ™ 52

~&B
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fx) =x*—8x—48 = (x +4)(x—12) o]1

40 9] 9F5=1, 2, 4, 5, 8, 10, 20, 400t}
fx) =x*-8x—48 = (x +4)(x - 12) °]B&2
x+4 EBE x - 12 71 40 ] eF5=7} = o]of ghet,
ojuf, AL x 7t HAZS 7HA AW,

x—12 =40 & Tjo]B2 x =52
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(a+1)*+ (b+1)
(a+1)(b+1)
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> He a+b=-2
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a+1=A, b+1=B = %2}H
(a+ 1)+ (b+1)2 A%+ B>
@+1)(b+1)  AB
A2+ 2AB+B?>=0,(A+B)?=0
A+B=a+b+2=0

L a+b=-2
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28. *—6r+a=(x-b)? & WET W, ab 9] kS Fotodet.
C} -

>
> ®e: ab =27

¥ —bx+a=(x-3)2=x>-6x+9=(x—b)>
a=9 b=3
woab =27




29. ¥ +2x-1=0 %2 0, x* - 3x% + 6x & & ko=t
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>
|> Xk 9
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x2 4 2x-1= 094

2 =1-2x

xt = (1-2x)?
=1-—4x+4x?
=1-4x+4(1-2x)
=1-4x+4—-8x
=5-—12x

oxt-3x% +6x =5-12x-3(1-2x) + 6x
=5-12x-3 + 6x + 6x
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30. ab=-4,(a+2)(b+2)=10¢ W, a® + b> + a®b + ab® 9] F2?

O 121 @ 134 @ 146 @ 152 @165

~&B ~

(a+2)(b+2)=ab+2(a+b)+4=10
ab=-4 5 WY Ha+b=5
FHa2+b2=(a+b)>-2ab=52-2-(-4) =33
v a®+ b+ a’b+ab® = a? (a+b) + b*(a+b)
= (a®>+b*)(a+Db)
=33x5
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